Isolation discriminant Myis Neharged
Loose 0.98 +0.06 | 0.98 + 0.06
Isolation-sum AR = 0.5 | Medium 0.98 +0.06 | 0.96 £ 0.05
Tight 0.97 & 0.06 | 0.96 £ 0.05
Loose 0.99 4+ 0.06 | 0.97 £+ 0.05
Isolation-sum AR = 0.3 | Medium 1.00 £ 0.06 | 0.99 4 0.05
Tight 0.99 4+ 0.06 | 0.98 £ 0.05
Loose 1.00 £ 0.06 | 1.02 4+ 0.06
Medium 1.00 £ 0.06 | 1.01 & 0.05
MVA-based AR =05 | 340 1.01 £ 0.06 | 0.99 + 0.05
Very Tight || 1.00 £ 0.06 | 1.00 &£ 0.05
Loose 1.01 £0.06 | 0.99 + 0.06
Medium 1.01 £0.06 | 0.98 + 0.06
MVA-based AR =0.3 | pyop 1.02 £ 0.06 | 0.98 % 0.05
Very Tight || 1.00 == 0.06 | 0.98 £ 0.05




